BEDDD)

(D -+ 28] (BH -+ D]

[1] ROFEE L2 X0y,

4 1
(1)§+4=3\j\4}=§
5 51
(3) 7+10:7><1\(2):ﬁ
9 9 3
(5)1_0_3_10><&1:1_0
N 2ea=> =2
6x4 24
4 \gixs 15 1
(9)6+§=1x\4;=7 7E>
3x8 24 , 4
(103+5=155=% (45)

10+—=
(13) 2

9 10x4 40
5 =75 (43)

[2] ROMBEIZE 2 72 &0,

(1) 2L w44 1 A AL Pk

L2 xxs
fczfg 3

5

(2) 4 km THELSADNWET, ZD

) 1 2x%X13
KZTE_ 1x1

2
(2) Sap- o 3
4" 4x2 8
) 2
(4) 2+ 6= "= —
9%x6 27
3
4 1
(6) —+8 = —
11 11><\g 22
@t 4
T 7x7 49
(10) 9« L =2 %2 8L 4
"9 1x7 7 7
8 '8x5
X
(12)8+c=1 <=5
1
12 4x7 7
X 1
(1) 4+— == (25)

ERERTeDIATTH 23730 9D,

Kz 5 H

NI 2km DIED V) AR DIy 035030 30,

xz 26 47

=

DTV NMIDTTYA M TERYD>OO-RTEET, O /NEFEDOFBHHM (BB RUJL]  http://happylilac.net/syogaku.html



